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Superior power, were capable of bringing
10 a ‘successful issue the mighty struggle
in which all Europe was at that critical
Period involved,he bade Lis brother carry
to Henry. duke of Saxony, hitherto the
rival of his honse; and who was as magna-
himous as fortunate, the holy lance and
consgecrated sword of the ancient kings,
with all the other imperial insignia. He
thus pointed him out as the successor of
is own choicg, and in his regard for the
general weal, and in his anxiety to main-
tain g greal pacific power capable of
efendlng the common interest of Christ-
endom, he dlsregarded the suggestions
of natlonal vanity, and sacrificed even
the glory of his own house.
So wise and judicious, s well as heroic,
a gacrifice of all selfish glory, for what
the interests of society and the uecessu;wb
of the times evidently demanded, is that
Priyeiplewhich formsthe very foundation
ang copstitutes the true spirit, of all
Christiap gayernments. And by this very
deed Conyag became, after Charlemagne,
the secand restarer of the western Emy ive,
and the real founder of the German
Ration ; for it was this neble resolve of
hls great soul, which alone say ed the
Germanic body from a eomplete dismem-
beﬂ'ment The event fully justified hia
ehpice. The new king, Henry, victorious
on eyery side, labored to build a great
Rumber of cities, to restore the reign of
" Peage apgd justice, and to maintain the
Puriy of Christian mannpers and Christian
nstitutions ; and prepa.rgzd for his migh-
tier son, the great Otho, the restoration
of the Christian empire in Italy, whither
the latter was loudly and unanimously
called.
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ARITHMETIQUE

L Com_bien cofiteront 78 quintaux 3
9rs et 12 1bs de sucre 4 $11.55 le qnintal ?

Réponse: $910.80.

Solution :

N. B. Prendre 112 lbs, pour un quintal.

$11.55
- 78—3—12
900.90
2q=% 577+ =1
1 =1 2. 88 j=1t
Tlbs =1 T2 = 1y
4: =%« 1 1 =
1 =i . 10k= ;f;ﬁ
$910.80°

I1. Quelle est la valeur présente d’un
billet de $962 payable dans un an i 47,
d’escompte ?

Réponse: $925,

Solution :

Int.de $1 4 4% pourun an égale M otg:,
$1.+.04=$1.04.
1.04|962. 001925
936

260

208
520
520

ALGEBRE
1. Divigeza®—3a 2b+3a b?—b?® para~b.

Réponse: a?—2a b+b2.
Solution :
a%—3a?b+3a b?—b? [a—b.
a¥®— atb —2ab+b?
—2a%b+3a b?
—2a%b+2a b2
a bZ—b3
a b?2—b?

I1. En ajoutant 10 3 un nombre les $
de la somme seront 66. Quel est ce
nombre? :

Réjmnse: 100.



